
 

DWP849X/TP10 - LIXADEIRA POLITRIZ 7’’ 9’’ VELOCIDADE VARIÁVEL 



Posição Peça Referência Type Qtde
Tipo 10
Tipo 10
Tipo 10
Tipo 10
Tipo 10
Tipo 10
Tipo 10
Tipo 10
Tipo 10

Tipo 10

Tipo 10
Tipo 10
Tipo 10
Tipo 10
Tipo 10
Tipo 10
Tipo 10
Tipo 10
Tipo 10

Tipo 10

Tipo 10
Tipo 10
Tipo 10
Tipo 10
Tipo 10
Tipo 10
Tipo 10
Tipo 10
Tipo 10
Tipo 10
Tipo 10
Tipo 10
Tipo 10
Tipo 10
Tipo 10
Tipo 10
Tipo 10
Tipo 10
Tipo 10
Tipo 10
Tipo 10
Tipo 10
Tipo 10
Tipo 10
Tipo 10
Tipo 10
Tipo 10

 1  N024146  DEFLETOR DWP849X  1
 3  N394393  ESCOVA 220V DWP849X  2
 4  N394395  ESCOVA POP-OFF 220VDWP849X  1
 5  N024448  TAMPA DO CARVAO DWE560  2
 6  N089177U  CONJ. MODULO DWP849X 220V SSP  1
 7  071025-00  PRESILHA  6
 8  N466184  CABO ELETRICO DWP849XB2/BR "SC"  1
 10  N048091  PROTETOR DE BORRACHADWP849X  1
 11  330005-01  PROTETOR DO CABOELETRICO  1

 12  N466198  CONJ.ROTOR 220V DWP849X"SC"
Mudou para: N466198S  1

 12  N466198S  CONJ.ROTOR 220V DWP849X"SC"  1
 13  N020976  CAIXA DE CAMPO DWP849X  1
 14  N119820  CONJ.CAIXA DE ENGRENAGEM DWP849X  1
 15  N020852  CONJ.EMPUNHADURA DWP849X  1
 16  N084855  CONJ.DE LIDES (CHICOTE DE FIOS) DWP849X  1
 17  N036455  POTENCIOMETRO  1
 18  N039388  CONJ.EIXO DE SAIDADWP849X  1
 19  330045-06  PARAFUSO M4 X 16MM T20ACO  5
 20  330045-44  PARAFUSO M4 X 8MM T20ACO  2

 21  330019-45  PARAFUSO M4.55 X 29MMT20 ACO  4

 22  330019-02  PARAFUSO M3.63 X 13MMT15 ACO  4
 23  330019-01  PARAFUSO M3.5x9.5 T15  2
 24  330019-13  PARAFUSO M4.55 X 19MMT20 ACO  5
 25  N024326  CHAVE ELETRICA DWP849X"SC"  1
 26  N048024  TAMPA DWP849X  2
 27  N086775  PARAFUSO M3.12 X 8MM T10ACO  1
 30  N044709  ANEL TRAVA EXT.11MM ACO"SC" DWP849X  1
 31  N022609  ENGRENAGEM  1
 32  330045-56  PARAFUSO M4 X 10MM T25ACO  3
 33  605040-23  ROLAMENTO CW 6201 12MM X32MM X 10MM  1
 34  N039445  ANEL ORING 53MMx1.5MM BORRACHA DWP849X  1
 35  N039386  TAMPA DA CAIXA DE ENGR.DWP849X  1
 37  N022610  TAMPA DE VEDACAO DWP849XACO  1
 38  N022608  EIXO DE SAIDA "SC"  1
 90  383450-00  PARAFUSO ALLEN M10x25MM ACO  2
 91  N034970  ALCA DWP849X "SC"  1
 92  N058043  MANGO LATERAL DWP849X"SC"  1
 93  N080692  CHAVE ALLEN 8MM ACODWP849X  1
 94  146546-01  DISCO DE BORRACHA LISO  1
 95  636574-00  PORCA DO DISCO DWP849X"SC"  1
 121  N110358  ROLAMENTO 608 8MMx22MMx7MM DWP849X  1
 122  N079012  ROLAMENTO 6001 LUZ 12MMx28MMx8MM DWP849X  1
 123  N101909  CAPA DO ROLAMENTO  1
 124  N027942  MAGNETICO  1
 125  N022834  DISCO DE PROTECAO ROTORDWP849X  1
 126  N027674  ANEL TRAVA EXT.12MM ACODWP849X  1
 128  393238-00  PROTETOR DE ROLAMENTO  1



Tipo 10
Tipo 10
Tipo 10
Tipo 10
Tipo 10
Tipo 10
Tipo 10
Tipo 10
Tipo 10
Tipo 10
Tipo 10
Tipo 10
Tipo 10

Tipo 10

 128  393238-00  PROTETOR DE ROLAMENTO  1
 132  N466194  CONJ.ESTATOR 220V DWP849X "SC"  1
 133  330044-23  PARAFUSO M4x70 T20  2
 134  N172018  CONJ PORTA ESCOVA DWP849X  2
 135  N034419  TERMINAL DWP849X  2
 141  N046147  BOTAO DO PINO TRAVA  1
 142  N027961  PINO TRAVA  1
 144  N073927  MOLA  1
 145  N119059  ANEL ORING 5MMx0.7MM BORRACHA DWP849X  1
 145  603608-00  ANEL O RING  1
 146  N109692  BUCHA PINO TRAVA  1
 147  N100221  ANEL TRAVA CLIP DIAM.11MM ACO DWP849X  1
 148  N110454  ANEL ORING 10MMx1MM BORRACHA DWP849X  1

  N089177  CONJUNTO MODULO DWP849X220V SSP
Mudou para: N089177U  1


